
Decrypt and connect the appropriate city with the country and the flag         Made by Kaspars V. 

                           
                           

                           

   778 81 125 400 13        63 91 99 23         

                           

                           

                        

 

  

   251 91 400 125 10 520       125 520 125 10 125        

                           

                           

                           

   666 63 23 23 1 23       400 125 99 778 125        

                           

                           

                           

   400 125 81 32 778 125       35 125 81 23 666        

                           

                           

                           

   81 169 63 64 23 13      2 125 400 91 5 778        

                           

                           

                        

 

  

  63 91 99 125 10 778 125      400 23 2 91 63 64        

                           

                           

                           

  35 169 10 666 125 63 13     2 125 63 1 23 400 91 253       

                           

                           

                       
 

   

  251 91 63 81 169 666 125 400   80 125 253 5 2 23 63 23 10 13      

                           

                           
 

  

https://www.google.lv/url?sa=i&rct=j&q=&esrc=s&source=imgres&cd=&cad=rja&uact=8&ved=0ahUKEwiazdC1mrbSAhWFVSwKHWULDrkQjRwIBw&url=https://en.wikipedia.org/wiki/Flag_of_Greece&psig=AFQjCNGM_zpTy2TX0Xkzo016jyodq7bf8Q&ust=1488488638166776
https://lv.wikipedia.org/wiki/Att%C4%93ls:Flag_of_Romania.svg
https://lv.wikipedia.org/wiki/Att%C4%93ls:Flag_of_Portugal.svg
https://lv.wikipedia.org/wiki/Att%C4%93ls:Flag_of_Turkey.svg
https://lv.wikipedia.org/wiki/Att%C4%93ls:Flag_of_Latvia.svg
https://lv.wikipedia.org/wiki/Att%C4%93ls:Flag_of_Italy.svg
https://lv.wikipedia.org/wiki/Att%C4%93ls:Flag_of_Hungary.svg


   

 𝐸 + 𝐸 + 139 = 185  

 1% 𝑓𝑟𝑜𝑚 𝐿 = 4  

 
5

12
𝑓𝑟𝑜𝑚 84 = 𝐻  

 
1

7
 𝑓𝑟𝑜𝑚 𝑂 = 13  

 
9

19
𝑓𝑟𝑜𝑚 133 = 𝑅  

 
7 × 12

7 + 5
+

(50 + 42) × 2

1931 − 1930 + 1
= 𝑀  

 𝑇 − 18 − 13 = 50  

 (5 − 3)5 = 𝑉  

 72 + 93 = 𝐼  

 25 × 5 = 125 × 2 − 125 = 𝐴   

 83 − 63 = 𝑃  

 83 − 73 = 𝑈  

 1245 − 1244 + 93 − 43 = 𝐺  

 2% 𝑓𝑟𝑜𝑚 500 = 𝑁  

 52% 𝑓𝑟𝑜𝑚 1000 = 𝐷  
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4
+

9

12
= 𝐶  
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5
+

6

10
= 𝐵  

 20% 𝑓𝑟𝑜𝑚 65 = 𝑌  

 
7

8
 𝑓𝑟𝑜𝑚 𝐾 = 56  

 34 − 19 = 𝐽  

 44 −
81

27
= 𝑆  

 𝑍3 − 63 ÷ 63 + 63 = 187  

   
 


